1 (r+3y)7 - 428 Q5Rafetu?

@ (x-5y)(x-y) @ (x4 2y)(x—-2y)
® (x-5y)(x+y) @ (x+3y)(x+2y)

® (x+5y)(x+y)



2.

(x+2)° - (2v-3)° & 2] ol

a+b+co gE o7 (B ae

@D -5 ® -1 3 -3



3. (2x+1)2-(x-2)%2=Bx+a)(x+b) L W, a+3p°] g2 F5HH?

D 4 ® 6 B 7 @ 8 ®B 9



e

4. (2x-17-(x+2)*2 ALENSIA (3x +a) (x + b) 7} HTHLL S},
™

1
ol W, a-b°] = F5HH?

D -1 @ 3 ® 0 @ 2 ® 4



5. (3x-2)°-(2x+3)" = (Ax+ 1) (x+ B) L W, A+ B ] F& 73t
ot

W EaAt+E=



6.

2 - (2 -6y +9) & Jds-EalctH?

@ (x—y=-5)(x—y+2) @ (x=y+5)(x—y+2)

® (x+y-3)(x-y-3) @ (x+y+3)(x—-y+3)

® (x+y-3)(x—-y+3)



7. ARt x+y =31 x-y=11 Y& o] 8ot (x? —4x+4) -
(0 =2y +1) 9 g& Fstof=h

e =
-



8. (x-2(x-3)(x-4)(x-5)+1=(x*+ax+b)>¥d H, a bo| IS
Fsfolat,

Ll Hia=

YERE



(m-1)2-(n-1)2 & QIFE LT 1=2HY

@ m+n-1 @ m-n+2

® m-n

O® m+n-2

@® m-n+1



10. o2 AollA A + B ©] 3L-& FotH?

(3x—1)2 -9 (2x + 3)?
= (Ax+8) (-3x - B)

D 14 @ 16 ® 17 @ 18



11. (3x+1)2-4(2x-3)? = —(Tx+a)(x-b) ¥ W, 2a+b 2] Fk= F5FH?

D -1 ® -3 3 0 @ 2 B -2



12, (x+2)2-(x+2)(y-1)-6(y—1)2 Q15EalstH?

D (x+3y-1)(x—2y+4) @ (x+2y+4)(x-3y)
® (x+3y)(x—2y) @ (x-=3y+5)(x+2y)

® (x-3y—-4)(x-2y+1)



13. (2a-3b)? - (4a - 5b)® = 4(ma + nb)(b — pa) & W, mn - p °] G
ok

D =11 ® 13 3 —-13 @ 11 B -2



14.

(2a-3b+1)?-(2a+3b-1)> =8a(Aa+Bb+C) L T, A+B-C
= oozt

RJe:a+B-C=



15, (x+y+2)?2%-(x-y-2)2& FEslstA?

@ 2x(y +2) @ 4x(y-2) ® x(3y+2)

@ 4x(y+2) ® 4y(x+2)



16. (x=-3)(x+1) = (x=3)2+6(x+1)? & AE3lotdA?

@ (Bx+2)(x+2) @ 2(3x-1)(x+3)
® 2(3x+1)(x-3) @ 4(2x-2)(x+3)

® -2(3x-2)(x-3)



17, x® —4dxy+4y% +2x -4y - 15 & A5 Ea|5HA?

@ (x=2y+3)(x—2y-5) @ (x+2y+3)(x+2y-5)
® (x-2y-3)(x+2y+5) @ (x+2y+3)(x+2y+5)

® (x=2y-3)(x-2y+5)



18. (2x-1)2-9 & A5Eal 5t a(x + b)(x +¢) 2 YEPL T, be —a
o] & Aokl

a Ctibc—a=



19. (a+2b)2-25¢2 = (a+] | b+ ] o)+ o] Jo)y A ]

oFol ke 48 Aeth= Holet.

a=
ue
B«

B =






21. Bx+1)2-(2x-3)2=GBx+a)(x+b) D, a-b 2] FH2?

D 5 ® -1 B —6 @ =10 B —-12



22. (2x+1)2-(x-2)2 = (3x+a)(x+b) & W, a+3b O] FF= F5HH?

@D 4.5 ® 6 B 7 @ 8 ®B 9



23. (a+b+2)%?—(—a+b-2)* & A5E51H?

@ 2(a+b+2) @ 4(a-b-2) ® 4a(b+1)

@ 4a(b+2) ® 4b(a +2)



uu)r*o“’&%io] (x+y=3)°=(x-y+3)°



25. Al (x—1)2 -9y & A5Eafetn?

@ (x+3y-1)(x-3y+1) @ (x+3y+1)(x-3y-1)
@ (x+3y-1)(x-3y-1) @ (x+3y-1)(x+3y-1)

® (x+3y+1)(x-3y-1)



26. 20x+2)+ (x+2)(3x—1)

(B3x-1)2 =
ab + cd ©) 3+ T (H, a,

c = %)

(ax-i-b)(c)c_,_d) OE] ]IH’

D -1 @ 3 ® 0 @ 2



